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MATH 237 Sochacki Exam 1 Name AE Y  WEST
Sep. 27,2016 75 Points (Print) (1 point)

All necessary work must be shown for credit. Part of your score is the work you show. Work must be NEAT.
You may NOT use computers, notes or texts.

I have neither received nor given help on this exam. D oan %‘;(
(Signature) (2 points) =

1. Give the UNIT normal to 2x-3y+4z=35. (6 points)
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2. Give the angle between i;j.= 2%1 4z ond 3= 27—8E. (6 poiuts)
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3. Let u =< 2,1> and v be the vector determined by the point P = (1, 2}. Give the projection of v onto u (;")
and the distance P is from the line given by u. (6 points)
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4.Tet r = 4sin@—2 be a polar curve. (18 points)
(a) Write the equivalent curve in rectangular coordinates
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(b) Give the equation of the tangent line to this polar curve at 8 = Zq
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5.Let x=1*—2t,y =1 ~27t.(18 points)
(a) Give the equation of the tangent line in parametric form to this curve at ¢ =2.

x(2)=0 y(z):g-sa,-: - Al
2.
X' = 24-2 NI = 3£%27

W(y=2 Y="Is

Q)= (o, 46)+ £ 42,7 >

X=o+2t , Y= 46715Z

(b) Give the graph of this curve using limits and derivatives.
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(¢) Give the simplified arc length integral for this curve for 0<f<1.
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6. Give the volume of the parallelepiped determined by the vectors <2,—1>,<1,3> and 2i— j+k . (6 points)
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8. Give the point at which £(¢) =<2¢ +1,4¢,4 1> intersects x+ y+z =7 . (6 points
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